
1a. Passamezzo Giacomo Gorzanis
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Intabolatura di Liuto, v.2 (1563), p.1. Encoded by Douglas Towne and; edited by Sarge Gerbode.

2) b on 1st course in orig.
1) Note one course higher in orig.
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3) f in orig.
2) d in orig.
1) Note one course higher in orig.
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







  
  

   






  
  

    








 



    








  
  




  
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







 














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




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






















  
  

  





















4






  
  


  


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



  
  

  
 





 

  
  

  










       
  








  

     






  
  

    

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1)







  

     







   
      








 
     

  








   
  

 






  
    

  
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




   
 

    






  
  

    








  

   












  
    

  









1) 3 notes one course higher in orig.
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
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
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


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
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


5






 



















  







    







 

 

















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





  
 






 
  











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










  






 
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

















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






  














2























  
 

1)







    

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2)






   













 










 




 










   


 

 


 
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





  






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
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
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

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



 



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   
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


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



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







   

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


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



   




45 







  

  
       





 




5)








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
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




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5) a deleted from 2nd course, here.
4) e in orig.
3) Note one course lower in orig.
2) Note one course lower in orig.
1) dot deleted by editor.
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3)


 

  
  

 

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  
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3) ote one course lower in orig.
2) c deleted from 1st course, here.
1) Note d on 3rd course in orig.


